F36E BHESFEFRELHRE —F4£XE
ﬁJ1E|2012¢7 15H %;9&%_

B
BRIl mIsn A EH A ERE IS =
[H B iEod 2[L 30 47 5%L [R5 L5 8Tt

, BF KARBEZEX) 10791 | A+ A1) 11712 REm $F4E(1) 11737|KF# Sth(1) 11747\ 1ILE Bh(1) 11753 EHEZRAE() 11754| 5B E#1) 11757|iF Eh(1) 11761
7/15 100m
+0.1 ZBIE ZBIE HEZES B I 7 EEZES T HHEE
, pNITREY:6)) 52727|F AT —#8(1) 52728 B EE(1) 53717|fgE EX() 53" 24| &N A ER(T) 53774[lLe —%Q) 54786(IIIF _EN) 55730
7/15 400m
%ﬁﬂ'ﬁl% __ BIBTE BEZEES BRI T HES
=2 =0) 2'05"12|@IL MEQ) 2'06”85|A%k KEN(1) 207734[BF WLMEAN() 210750 E FFEN) 2'10793| &k #hEk() 212764|RE HEXO) 2'13750
7/15 800m
SRS HEE BT E BERES "“EE"‘ EBTE
HZHE Bz0) 9347095 Al EM(A) 9'35704[IEF  JR(1) 9'40763|FEH EBE=(1) 9'55"15[;F8 EH(O) 9'58”49|{kmE BARI(1)  10°00781[JIl#k BéHE(I) 1002 68|11 EfA() 1020775
7/15 3000m
HEXES EEAES ERATE EEIS :EE"IH%?IE S
AE EKRA) 14786 =45 EEX(1) 15749\ RBF 1@a#c(1) 16762|F fal =A() 17766|#TIL BEXA) 20721
7/15 110mJH " K= " a -
-1.4 "“,_5 SIS S "“_5 ST S EEAER
BELS = 42”18 HEFES = : R = = 45"99| = IEE 5 46739 EIEmE = 46746 B m TR E = 46751
AR BAN) KEHFH| B2 —D0) FIE I5(1) T REW) BE EE1) EN #hFEQ) T2 I&KER(1)
7/15 4x100mR| 74T —3E(1) e —&1) HH E#(1) EEERAB) A3t (1) wEFT Eh(1) g &=
KAREBZEQ) #il EX) shil K#h(1) EH Bh() =s EX0) BE W) BE 2301
g EARD ER fF4E0D INKE B R AR BEE0) :Enﬁ_’é”?é(ﬂ WA AW _ AP ILUMEAQ)
pNITRE1);36)) 1m70|/NK & B iK(1) 1m70[A 8 ZA(1) 1m60 g Rak(1) M| S8 EX0) 1m55[;EA KHE() 1m55 #AJII F0Z(1) 70z
7/15 EE B N N N _ 1m60 N N __ 1mb5
k== _HIETE = A EBES = i) = )
g ?«?( 4mOO|BEH &) 3m40|FXx AUE() 3mO00|# BIE fEX0) 2m90
7/15 BEBk
HiBE—m 0 | 0 AFmy 00 |  EHIBEES =
X% @) 6m15|&H ZE(1) 5m93|Aik Eth(1) 5m84 Al KEE() 5m70[FH R 5m69;E/K &H=() 5m68[tAER  #&(1) 5m67
7/15 =Bk +1.0 +0.0 +1.3 +0.4 -0.1 +0.6 +1.0
A = HES AT E
) FES %%ZFU) 11m18[7k K EE(1) 10m61 B FEW0 8m85|=5H BEE() 8m52|7/RZE  I5(1) 8m21|&H KR(0) 7m35
7/15
HIFT HE s if] 8 HIETE EBFES #EEE BiEaly
i #H B0) 29ma5|#r % &) 25m79(TE4 ER() 25m25 :i] R HEA0) 23m60[HEE —BK(1) 22m46|[5H EEFEM) 21m29[ILO &X() 21m21
7/15 (S h:254
5 EMIZ | BAIA SEE EHTE BEE _ merEE SEE
oY #H B0) 49m77[EER HEX) 45m87| K E HEM) 41m99|FZE FE(1) 38m75(lLA &EXK() 38m54|F A EXRX) 38m28[im:n (1) 36m05|BER  &(1) 34m15
7/15 %
~ BIETE EIETE EBAES EBES EISES =B E = =1

1/2



E36m BERESFFRELBRE —F4EXR

#R:20124£ 7R 158 choRk_ EE
S 21 B & B A 3 RFREB—8
[HH 1T 207 3fE 4%7 50 353 1253 8fi
, TF S BF) 7l2A1¥)Zr e FXRW 12”85|M 2z EEZ®) 13724|% 8 BFI(1) 13732 |EiE&H h4a(1) 13751|#&B& FF(1) 13"57| A fR BTH(D) 13768|&lE BEW) 13776
7/15 100 &
2 = _EHIBITS INRB IS HISILE SR, RS .

ngE BEO) 1'03754| &% & m%m 1°04724|/NEE %*%(1) 104729428 ZFEM() 1047 78|58 H&HI(1) 1'05702| & 4T HER() 1°09770

7/15 400m
=R = e EF”: ST : s
A 1%?(1) 225789 BRFD TR OTREE TR 2B BE() 23 s|hE EA( 2 EEEREN 23

7/15 800m
=I5 B X5 FIEAES _gmﬁ PN EREES EES A E
SHEZ(1) 1047 19|18 =B m‘gm 11°38710[#2@ 3L\ 1143713[FEA #b&1(1)  1151750(8% =E(1) 1155 63[fIL =ZA() 12736797
7/15 3000m
BEBEXS A== HEE S =SS TS ] 5 _ s BE¥ES
, EXEHEF) 16724|&E[E KAH0) 16726 2:Z2EHFAN) 17712/ M B(1) 17742|ER1 {&E%0(1) 17762|T =28 18"10|{1E@E m=x() 18"12[AE FKFI(1) 18”51
7/15 100mH
-20| ____IMHKE ERED EIBRES BIGEE I S ERTIE
T 48780 % T 53791 Bl RES 54”95 | 3k [i] 7 = 55”63| = G = 55" 64| B = 57720
EEFEAZQ) = #EAL E0) RE BRQ1) WHE FEW0) HWE ALFEO) etk HEE)
7/15 4x100mR| AT E&() 3 BB BRA(T) A FEM) INAODNB(T) meg BEQ1) BIRIFDOMN()
me &F%E(0) & WAL F(1) #il B2&(1) =k BR0) BE BRO) BEARTEXN)
S #wmFA) 0 Al EE(D ERI EHA) 2K FEA0) BB FREG) L% S0
HE LR Tm51|Fatl FH(1) Tm51|8REA == 1m51|#7T E@(1) Tm48|BERIZ D A1) Tm45[ /NFRU B (1) 1Tm40|E EE(1) Tm35|&H E50) 1m25

7/15 ES Bk

B
F = tRE Is

Iod
(oo}
HEE
il
m
R
o

ESES S RS _ EES EEES 1= BT S
Embhhria(l) 5m03[ K2  EE(1) 4m82|HHE EI&R(1) Am78|ER  FFME(1) 4m76|RE 4m76| KB FxF() am71|& B F+(0) 4mb56[#EA 1L (1) 4m38

=&
7/15 FENEBE -0.6 -1.2 +1.3 -0.9 -0.7 -1.1 +0.8 -04
INAFIES i RS RS AL E BEZES = i)
) _— FatF=0) %22%} SETHEEH) Im16|ZEE EB(1) Tm40[;iT 87 B m+F(1) 7m05| 5% ANk B (1) 6mi6[EEEALLVEX) 6mi1|daA %ﬁ(n 6m00[/&  FK7H(1) 5m4d
7/15 43
| mmrEm B EE BEE S ERE AR
. BTN 26m40[E ;T B IE;H() 25m35| R ﬁuﬁ( ) 24m29|F%E FUV() 23m90|{ERE =) 20m9o9|EE Emk(1) 20m44 |8 FHYZE() 20m22|FA &) 19m79
7/15 (S h:254
~ EEEEE R, EBTE = T EBAES M
EE 0 30m42[FEE FL\() 29m69| EF SEM) 28m64[ K FH H1HA) 26mi9[HE BRZE(N) 25m10 ﬁJi:FKbU*(U 24m53|H A FEM) 24m34[lm  ER7(1) 24m05

7/15 PYUE

BEZEES EBAES BE S EBTE EIBEE EBAES

2/2



